
SAP ABAP table RESCSETTLHIERARCHY_X {Settlement Unit Hierarchy}

RESCSETTLHIERARCHY_X

SCS_SU_GUID [RAW (16)]

SETTL_GUID [RAW (16)]

PURPOSE [CHAR (3)]

MEAS [CHAR (4)]

REF2EQUAL_SU [RAW (16)]

REF2SIM_SU [RAW (16)]

REF2REST_SU [RAW (16)]

REF2MSUSEGUID [RAW (16)]

REF2MSUSESUGUID [RAW (16)]

MEASUSEDALT [CHAR (4)]

LOC_KEY [CHAR (10)]

HEATING_SYS [CHAR (13)]

ACCFIRM [CHAR (3)]

SNKSL [CHAR (4)]

TIV50

MANDT [CLNT (3)]

SKABRF [CHAR (3)]

 RESCSETTLHIERARCHY_X-ACCFIRM = TIV50-SKABRF 

0..N

0..N

TIVA2

MANDT [CLNT (3)]

ETHSL [CHAR (10)]

 RESCSETTLHIERARCHY_X-LOC_KEY = TIVA2-ETHSL 
0..N

0..N

TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 RESCSETTLHIERARCHY_X-MEAS = TIVBDMEAS-MEAS 
0..N

0..N  RESCSETTLHIERARCHY_X-MEASUSEDALT = TIVBDMEAS-MEAS 0..N

0..N
TIVSCPURPOSE

PURPOSE [CHAR (3)]
 RESCSETTLHIERARCHY_X-PURPOSE = TIVSCPURPOSE-PURPOSE 

0..N
1

TIVSCSCKEY

MANDT [CLNT (3)]

SNKSL [CHAR (4)]

 RESCSETTLHIERARCHY_X-SNKSL = TIVSCSCKEY-SNKSL 

0..N

0..N

VISCS_SU_SUM

MANDT [CLNT (3)]

SCS_SU_GUID [RAW (16)]

 RESCSETTLHIERARCHY_X-REF2EQUAL_SU = VISCS_SU_SUM-SCS_SU_GUID 

0..N

0..N

 RESCSETTLHIERARCHY_X-REF2MSUSESUGUID = VISCS_SU_SUM-SCS_SU_GUID 

0..N

1

 RESCSETTLHIERARCHY_X-REF2REST_SU = VISCS_SU_SUM-SCS_SU_GUID 

0..N

1

 RESCSETTLHIERARCHY_X-REF2SIM_SU = VISCS_SU_SUM-SCS_SU_GUID 0..N

1

VISCSETTL

MANDT [CLNT (3)]

SETTL_GUID [RAW (16)]


